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1. (20%) 	Find the general solution. 

xy'+4y = 8x4 y(1)=2 

2. (20%) 	Solve the following Initial value problem 

y"(x) + y'(X) - 2y(x) = 0 y(O)=4 ' y'(O)= -5 

3. (20%) 	Find the eigenvalues and eigenvectors of 

2- 2 -3l 
A = 2 1 -6
r

L-l -2 oj 


4. (20%) 	Find the Fourier coefficients of the periodic f(x). 

-k if 	 -rc < x < 0 
f(x) = { 	 and I(x + 2rc) = I(x).

k if 	 O<x<rc 

5. 	(20%) Integrate 

Z2 +1 
g()z = 

2 1z -- ­
4 


Counterclockwise around the circle of radius 1 with center (0, 0), 

:,' . 


